TE) =78 F— LhIERE

F1#RA 9:00~ Ho2#A 10:30~ H3HAS 12:00~ HFH4RAE 13:30~
NO F—24 HrE R F1H (BH27H) F— LRI
1 HIERE JeiEE HEIRRAY 0 7 PNER: HEIRRAY 0| 7 M=
2 BN IS ey AR BN ISy 0 6 KHF LT BN ISy 0| 4 TR
3 BNTIEEN FeEE WASTAEERE 5 1 FRFRER VST 1 6 | FERRHEE L=
4 [Etcin IR EIEE— 0 6 TR EIEE— 0o |11 HEE
5 WSTRR AL AR WASTAK AL 5 6 TiNAH WASTAK AL 6 1 RATE R
6 Iy Ze= G i 7= 4 10 THERTN i 7= 1 8 | FEIKFM
7| WSLERE - RSrRER] | AR EHTAE - 2R 5 2 | FEZ kP | ARE-ZREER | 0 | 2 THEEN
8 | BNITEE - BOKARE | KR THEE - KR 2 5 FHATIE 2083 | T - K 8 | 1 B
9 P % JEE 1] 1 8 TERATHNE JEE 1] 6 | 4 I
10 TN H FERRIR TN AKH 6 5 FICEE] M N H 4 1 KR
1 LAEES ” e 9 1 LA e 8 | 1 &/ It
12 AR — BiER A — 7 0 AN A — 4|0 i k.
13 LA ” LR 1 9 AiEE LA 2 | 4 PRGN
14 KR % TR 5 9 RIS R TR 1| 4 AR H
15 THEER THE THEFTRD 10| 4 )72 THEFTRD 2 | 0 | EEZAER
16 DERVAC R 52 # [ENAF o 12| 0 e B [ENAF o 11| 0 EIRER —
17 NG =2 % NG 16 1 ) HOfERTHIREE | 4 | O CINFIIEED
18 I U B 6 4 L LifE B 4 | 6 S
19 HRSL/ NP % ARST/ NP 1 4 B e i = ARSL/ NP 4 1 FRRFREFD
20 cavaawll| % Eivaawall 1 16 TREE cainvaa Wl 3| 8 RHEF LT
21 T eyl TR 9 5 KB TR 1 6 xRl
22 IR % WA 6 0 EIREE— WA 16 | 2 i FHAER
23 = % ik 11| 11 iR = ik 0| 4 ENEEC
24 i R = AL iR = 11|11 Ml E Gigne 710 WK
25 SSHERT % FR RGN 1 5 Piacye] SRVSHERT 1 4 N
26 VST AL BRI VST A 0 12 EEhtig VST A 2 | 16 WRIBE
27 &/ RBFIR &/ 0 2 Fprrge &/ 1| 8 IS
28 AT N ] TEAATHSL 8 1 JE TERATHNL 121 L BikE
29 ST RHRZF NS WSTR R 2T 6 0 CINFIEED BATRHELZT | 8 3 LA
30 R % Tk 2 0 %/ It Tk 4 | 2 A
31 Bsrs< bifE x Barx < BiE 4 6 B Barx<ibE | 1 | 12 I /NI TAVA
32 | e AR Lk 2 & s Bt g o) | 4 1 /NP BB EBRE NIME L) 6 | 1 Pia:SEe]




